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Survey on physical and mental health of high school students

Physical health

Q1: How many days of the past week, did you exercise for more than 30 minutes to the point you sweat?

1.None 2.0ne day 3.Two days
4.Three days 5.Four days 6. More than five days

Q2: During the past week, how many hours did you exercise on the athletic field or in the gymnasium in
your PE classes?

1.Never 2.0ne hour 3.Two hours 4.More than three hours
Q3: What is your height and weight?

Q3-1: Height ( ) feet ( )inches
Q3-2: Weight ( ) Ib.

Q4: Have you been on a diet during the last one year?
1. Yes ( Go to Q4-1) 2. No (Goto @5)

Q4-1 What methods of diet have you used? (Circle all that apply.)
1. Ate less.
2. Exercised regularly.
3. Fasted more than 24 hours.
4. Took a prescribed diet medicine.
5. Took over the counter diet medicines such as laxatives or diuretics.
6. Threw up all after eating.
7. Ate only one kind of food, such as apples, eggs, milk, potatoes.
8. Others

Q5: What do you think about your figure?

1. Skinny 2. Slim 3. Just right
4. Chubby 5. Fat

Q6: How satisfied are you with your body figure?

1.Not at all satisfied. 2. Not so satisfied. 3. Sort of satisfied. 4. Very satisfied.
Q7: How many days during the past week did you eat breakfast?
*Please do not count days when you had only milk or juice.

1. None. | didn't have a breakfast in last one week. 2. Once or twice.
3. Three to five days 4. | had breakfast almost everyday

4
I
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Q8:How often did you eat the following food during the past week?(Please circle one on each item.)

Never Once ortwice (Three to five times| Almost everyday
1)Fruits 1 2 g 4
2)Soft drinks 1 2 3 4
3) Fast foods such as pizza, hamburgers and fried chicken. 1 2 3 4
4) Instant noodles or cup noodles 1 2 3 4
5)Snacks such as potato chips 1 2 3 4
6) Chocolate, candies and ice creams 1 2 3 4
7) Vegetables * 2 3 4
8) Milk 1 2 3 4
9) Fresh meats or fish ¥ 2 k< 4
10) Processed foods including frozen foods. ki 2 3 4
11) Coffee ¥ 2 3 4

Q9: During the past year, have you received education on nutrition (i.e. how to eat for good health) at
school?

1.Yes 2.No
Q10: During the last week, on weekdays, how many hours did you sleep on average?
1. less than 5 hours a day
2. More than 5 hours but less than 6 hours a day
3. More than 6 hours but less than 7 hours a day
4. More than 7 hours but less than 8 hours a day
5. More than 8 hours but less than 9 hours a day
6. More than 9 hours
Q11. Do you think you get enough hours of sleep?
1. Not enough at all 2. Notenough 3. Enough 4. Too much
Q12. Have you ever smoked a cigarette?
1. Yes (Goto Q13) 2.No (Go to Q14)

Q13 When was the first time you smoked a cigarette?

1. Before 4" grade 2. Between 4" to 6" grade 3. 7" grade 4.8" grade
5.9" grade 6. 10" grade 7. 11" grade 8.12" grade
Q14: How do you think smoking affects your health?

1. It doesn't affect my health at all.

2. It doesn’'t have major adverse affects on my health.
3. It's not so good for my health.

4. It's very bad for my health.
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Q15: Have you been educated at school on smoking prevention, how to quit smoking or adverse health
affects of smoking cigarettes during the last year?

1. Yes 2.No

Q16: Have you ever drunk alcohol?
1. Yes (Go to Q17) 2.No (Goto Q18)

Q17: When was the first time you drank alcohol?

2. Between 4" to 6™ grade 3.7" grade
7. 11" grade 8.12" grade

1. Before 4™ grade 4.8" grade

5. 9" grade 6. 10" grade

Q18: How do you think drinking affects your health?

1. It doesn't affect my health at all.

2. It doesn't have major affects on my health.
3. It's not so good for my health.

4. It's very bad for my health.

Q19:During the last year has your school given you an education on the harms of drinking alcohol or how

to stop drinking?
1. Yes 2.No

Q20: How often did you wash your hands on the following occasions during the last week?
(Please circle one that applies.)

Never Sometimes Often Always
1) Before meals 1 2 3 4
2) After using the bathroom 1 2 3 4
3) After | came home 1 2 3 4

Q21: Have you had a personal hygiene education at school during the last year?
1. Yes 2.No
Q22 : Have you ever been absent from school because of iliness or injury during the last year?

1. Never
4. About 10 days cumulatively

2. One to three days cumulatively 3.About one week cumulatively
5. More than two weeks cumulatively

Q23: What do you think of the state of your health?

1. Not at all healthy 2. Not so healthy 3. Rather healthy
Q24: How interested are you and your parents/ guardians in your health?

4_Very healthy

Not at all Not so Somewhat Very interested
1) Interest level of parents/ 1 2 3 4
guardians
2) Interest level of your self 1 2 3 4
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Mental health

Q25: Did you ever experience the following feelings during the past week? (Please circle one on each
feeling.)

Never Sometimes Occasionally Often
1)Lonely 1 2 3 4
2)Gloomy 1 2 3 4
3)Empty 1 2 3 4
4)Edgy and agitated 1 2 3 4
5)Worried for no reason 1 2 3 4
6)Nervous 1 2 3 4
7) Anxious 1 2 3 4
8) Confused and annoyed 1 2 3 4
9)Wanted to punch and hurt someone 1 2 3 4
10)Wanted to break something 1 2 3 4
11)Wanted to yell and throw something 1 2 3 4
Q26: Have you felt stressed during the past year?
1.Never 2Notsooften  3.Sometimes 4.0ften

Q27: What was the reason of your stress?

1. Relationship with my parents 2.Relationship with my brothers and sisters

3. My looks (height figure, features etc.) 4. Physical health 5. Mental issues

6. Money issues 7 Relationship with my friends 8. Friendship with the opposite sex
9. Relationship with seniors and juniors 10. Relationship with my teachers

11. My career options 12.My grade and academic achievements

13. Other ( )

Q28: When you feel stressed, what do you do? (Circle all that apply)

1.Take it 2.Sleep 3. Exercise 4. Play with friends

5. Play by myself (Play video games, listen to music etc.) 6.Take it out on others or things
7. Talk about it with others 8. Eat 9.Smoke 10.Drink alcohol

11. Don't do anything special 12. Other ( )
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Q29: What do you think about yourself? (Circle one on each statement.)

Disagree S;mewhat Somewhat Agree
isagree agree
1) | am a valuable person. 1 2 3 4
[2) | have a good personality. 1 2 3 4
3) | can cooperate well with others most of the time. 1 2 3 4
1) | evaluate myself positively. 1 2 3 4
5} | am satisfied with myself. 1 2 3 4
B) | can do pretty much anything if | make an effort. 1 2 3 4
[7) There are many things | can do. 1 2 3 4
B) | can overcome hardships. 1 2 3 4
9) | can focus on work or study without becoming emotional. 1 2 3 4
10) | don't get depressed when I'm sad or having a difficult time. 1 2 3 4
11) | can control myself when | feel mad or bad. 1 2 3 4
12) | don't get depressed no matter how many times | fail. 1 2 3 4
13) | believe my dreams will come true. 1 2 3 4
14)| can get over easily when | fall to reach goals. 1 2 3 4
Q30: What do you think about your parents/ guardians? (Circle one on each statement.)
Disagree S;g;?;::‘ Sogﬂger;vehat Agree

1) They understand me well. 1 2 3 4
R) They listen to my problems. 1 2 3 4
8) They help me when I'm having difficult times. 1 2 3 4
#)They give me advices on my career options. 1 2 3 4
B) They give me useful advices on my studies. 1 2 3 4
B) They teach me the right attitudes about studying and Iife. 1 2 3 4
[7) They give me allowance. 1 2 3 4
B) They buy me necessary itemns for study. 1 2 3 4
B) They support me so that | can live without financial worries. 1 2 3 4

Q31: Following are statements about your neighborhood. (Circle all that apply)

1. | have someone | can trust besides my family, friends and teachers.------ 1.yes---2.No

2. | have someone who helps me when I'm having a hard time besides my family, friends and teachers.

------ 1.yes:----2.No
3. There are groups, organizations and facilities that help me when I'm having a hard time. ---1.yes------2. No
2 = (129




Q32: Following are statements about your teachers and friends. (Circle one on each statement.)

D Somewhat Somewhat
egme disagree agree Agree
1) There is/are teacher(s) who understand(s) and accept(s) me at my 1 2 3 4
school,
2) There is/are teacher(s) whom | can ask for advices on any issues. 1 2 3 4
3) Teachers recognize me as an excellent student. 1 2 3 4
4) There is/are friend(s) whom | can ask for advice on any issue. 1 2 3 4
5) | feel easy and happy when | am with my friend(s). 1 2 3 4
Q33: What is your gender?
1 Male 2.Female
Q34: What grade are you in?
1.10" 2 1™ 3. 12"
Q35: Describe your school. Choose one of the following
1.Academic High school 2. Vocational High school
Q36: Who are you living with at home right now? (Circle all the choices that apply to you)
1. Father 2. Mother 3. Grand Parents. 4. Brothers & Sisters
5. Relatives 6.By myself 7.Other
Q37: What was your academic ranking in your grade last school year?
1.Bottom 2. Lower middle 3. Middle 4. Upper middle 5.Top

Thank you very much for your participation.
We will make good use of this survey.
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